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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated
as wrong answer.

Each question has four alternative responses marked
serially as 1, 2, 3. You have to darken only one circle or
bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

The OMR Answer Sheet is kept with this Test Booklet.
When you are directed to open the Test Booklet, take out
the Answer Sheet and fill in the particulars carefully with
blue ball point pen only. Please fill the Question Paper
Booklet no. on the OMR Answer Sheet carefully.

1/3 part of the mark(s) of each question will be
deducted for each wrong answer. (A wrong answer
means an incorrect answer or more than one answers for
any question. Leaving all the relevant circles or bubbles of
any question blank will not be considered as wrong
answer.)

Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable materials with him/her will be
strictly dealt as per rules.

Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.I.R. would
be lodged against him/her in the Police Station and
he/she would liable to be prosecuted. Department
may also debar him/her permanently from all future
examinations.
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1. Which of the following texts was compiled 1. Fr=feRad # & &1F &1 71 T@ el ¥

during Gupta Period? TT?

(1) Brihatkatha - (2) Kavya Mimansa (1) geaq@n 12) Wmﬁ e

e O P o b s5 T T AR 57 ¢ iy
(3) Amarkosh N '(4)‘SWapnavasavaduﬁﬁ kil ?3) SW‘,%«."‘

2. The period of Ancient India, in whith the first 2. UrEE HRA, BT BT gs, forad ded Ul
reference of ring wells is ot G - \LJ'J"" fe’ ﬂ\lw\iﬁa#) ?h‘i FaY UBe Soold fiordr B—

(1) Mauryan Period  (2) Ma.hajanapada (1) 91 Prer (2) FRISHUE BIcl

Period 3) T B (@) 959 FT

(3) Gupta Period 4) Vardhana Period
3. Consider the following statements about 3. FTerv<l WEIIER @ W= & aifeRad o

Nalanda Mahavihara: '_ : R faER HRg-

(a) According to Hiuen-Tsang, the (a) g9 9T & AR, FAR Td TH
Mahavihara was founded by ERT FRIfdeR &) WU & T3 ot |
Kumar Gupta-l - (b)  F8 A o R 6 AEfder aREaR

(b) It is believed that the Mahavihara Rereht @ ERT T B] a7 T |

was destroyed by Bakhtiyar Khalji. R Ty et IR P

(1) I (2) TG &1 (2) BadA (b) 9 2 |

Choose the correct answer from the given
codes- :
(1) Only (a)is true. ~ (2) Only (b) is true. (3) =1 @ (2) 7T & (b) @) (a) 3R (b) T
'(3) Neither (a) nor (b) (4) Both (a) and (b) T 2| e 3
is true. are true. '

4. Name the king of Shailendra dynasty who is 4. el 91 & foret wrom ®T 27 U & 6 S

credited to have built the Kalasan Témple» HTAET \fex’ &1 AEfor s
(1) Chulamani (2) Balaputradewa (1) gerfor T (2) mﬂgﬁiﬁf[
Varman :
(3) gHa (4) THITHROI

(3) Dharmavansha (4) Panangkaran
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5. Arrange the following places of Revoltof 1857 5. 1857 & Rwid & <R™ i Rgle—ref &
in Chronological order according to timing of fage %o @ 3R Wﬁ—cﬁ w9 9

outbreak of the revolt: Zaferd HfoTg—
(Aj Meerut (B) Bareilly ' (A) W (B) aeft
(C) Jhansi (D) Kota ©) =i (D) @
Choose the answer from codes given below- e I ﬂ_'\f.*
(1) ABCD 2)BDAC
(1) ABCD 2 BDAC

3)CBAD 4 DBCA

; 3 CBAD 4 DBCA

6. When the Technical College in Roorkee was 6. fafesr o+ @ SR v § aoia

established during the British rule? AT &) R4 &9 E—g?
(1) 1846 AD (2) 1847 AD (1) 1846 . (2) 1847 &.
(3) 1856 AD (4) 1857 AD A Fomer

7. Who were the founder members of Hindustan 7. ‘Rgwm Rufiaed waifimes’ @ wwimue

Republican Association? e & I?
(B) Sachindra Nath Sanyal G it
(C) Aurobindo Ghosh ©) axfa O

(D) Ram Prasad Bismil D) aR

AT IR 1 FHet B TR | Q-

Select the answer from codes given below-

(1) A,B,C&D (2 A&C (1) A,B,C3RD (2 A3RC

(3)A&D 4 AB&D 3) AR D 4) A,B3RD
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8. Which of the following statements about

Rajaram Mohan Roy is incorrect?

(1) He published a (2) He founded

book entitled “The ‘Indian Reform
Precepts of Jesus, Association’.
the Guide to Peace

and Happiness’.

(3) He founded (4) He published a

‘Aatmiya Sabha’. Persian Treatise

called Tuhfat-ul-
Muwahhidin’.
. Which of the following recommended the

establishment of Teachers’ Training Institution

on the lines of English model in India-
(1) Hunter (2) Sadler

Commission Commission
(3) Wood’s Despatch  (4) Raleigh

Commission

8. = § | &9 91 YA o YF Higd ' b

vy # ¥ =8 87

(1) 9=F T ey (2) S=iA g
3P ofred, &

Repr e
TES g U IS
i BT WITGAT B |
T J&idh YD1
B |
(3) IR AT T (4) Bl BRE H
"B AT B | b
M M 9 TP
T&ID TPIR Bl |

. frafafaa # @ f&as g™ 9Ra ¥ gl @

yafed T WX SRAd  URE EwRfmE
(Teachers’ Training Institutions) @ YRITYT I
fawiRRer o 78 ofi—
(1) BUEX IR (2) ¥SeR 3T

(S)Q@’fmf@@j (4) N1 RN
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10.

11.

12.

Given below are two statements. One is
Assertion (A) and the other is Reason (R).
Assertion(A):The Bhakti Saints mainly used
the regional languages for
spreading their teaching among
the masses.
Reason (R): The Delhi Sultans as well as the
Mughals made Persian their
official language.
Read the above statements and select the
correct answer from the codes given below-
(1) Both ‘A’ & ‘R’ are (2) Both ‘A’ & ‘R’ are
correct and R is the  correct, but ‘R’ is
correct explanation  not the correct
. for ‘A’ explanation for ‘A’

(3) “A’ is correct but  (4) “A’ is wrong but

‘R’ is wrong ‘R’ is correct

Who was the British Resident (Agent) in
Udaipur at the outbreak of Revolt of 18577

(1) Captain William  (2) Sir John Lawrence
Eden

(3) Captain Showers (4) Major Burton

With which of following Newspapers Vijay
Singh Pathik’s name is associated?

(1) Rajasthan Kesari  (2) Rajputana Gazette
(3) Rajasthan (4) Mewar Samachar

Samachar

10.

11.

12.

i S gee Ry MY 8| 1 e (A)
AT GERT R (R) B |
AMHA (A): Afaa—a=l = A STel & 7
I Rl B TER B B
forr wiEm: &g Wi @
T o | '
feeell oaml o g !
9 BRE B qUA PraferdiE
ATYT 1T |
ST Bl @I Yghs A Ry 7T gt 3
HETIT ¥ ¥l 9TR G-
(1) ‘A’ @ ‘R’ <=
WA q R A
1 FE AR & |

DRI (R):

(2) ‘A’ T ‘R’ SHI
ﬂﬁ"s“,v@‘R’
‘A’ DI GBI AR
el B

4) ‘A’ T 7 fog
R ¥El 2| :

1857 @ fagie @I YoAT & T ISR |

fafewr s (Tore) dE a1

(1) de faferd g (2) W S e

(3) ded vy (4) AR 94

(3) ‘A ¥ 2 frg
‘R’ TTeqd 21

/=1 4 9 59 wmeR o3 @ 9 oy Rig
Ui BT A ST T &7
(1) ISTRAE S (2) TG T9e

I(3) RISTRIE HHMER  (4) Hare IHER

[OB] %X
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13. Among the authors and their writings during

14.

15.

Aurangzeb’s reign, which one is not rightly

matched?

(1) Mirza Muhammad (2) Muhammad Saqi -

Kazim - Khulasa-ut-
'Alamgirnama Tawarikh
(3) Bhimsen - (4) Ishwardas Nagar -
Nuskha-i- - Fatuhat-i-Alamgiri
. Dilkusha '

Pandit Rao in Shivaji’s administration used to

deal with the matters related to-

(1) Military Affairs  (2) Charity and
Religious affairs

(3) Justice 4) Correspondence

List I denotes the Mughal Gardens and List II
denotes the rulers under whose reign the
Gardens were built. Which of the following is

not correctly matched-

Listl List IT
(1) Aaram Bagh - Babur
(Agra)
(2) Nishat bagh - Akbar
(Srinagar)
(3) Shalimar garden— Shah Jahan
(Lahore)
(4) Pinjore Garden — Aurangzeb
(Panchkula)
1 1 (2) 2
3) 3 4) 4

13

14.

15.

RO @ BIct B ORIGD] TAT SHD] AT

§ P w1 gl T ¥
(1) fasit gewiq (2) gewiE T —
PG = T
ST IRATHT REINEC]
(3) e — (4) geaREY AR —
AT CEC AU Gl o
CIRERIN]

Rrarht & g ¥ OfSd W9’ gRT WHIe S
qret A 20—

(1) ¥ A (2) T e
=T Al

(3) < TR g (4) TR AR
HTHA

] e e @ e A @ R
- I el T wqEa e 8 e
o ¥ S §9de Y o | feEfaRed A 9

I a7 gAferd el o

i Gl | R il
(1) ¥RM 97 (@MFR)) - &R
(2) o 9 (FR) - 3R
(3) TR 9T (AER) —  Smssiel
@) fSR arr (Gagan) - 3HRTeR
1 (22
3 3 4) 4

[OB] ¥
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16. In the following sequence a wrong number is 16, %=1 3eh® ¥ U TTora wwm <1 741 & | Toia
given. Find this wrong number. &7 geed—
1) 7 (2) 28 17 (2) 28
(3) 140 (4) 198 (3) 140 (4) 198
17. Three brands of mobile phones are used, 17. UH ®raFI H Ffbar, T 3R TSR D
namely Nokia, Sony and Motorola in a colony. @ giS & AT TgE {6 S &1 70
- B URaR ®dd UF #is $I YANT # 47 IRAR
70 families use only one brand, 47 families use
S a1 F1S B YART H 3R 8 uRaR Al Fie
exactly two brands and 8 use all the three
I TANT H o 2| TE A R © s
brands. It is assumed that each famil at il L
ran T 5 A 4 IRAR HH | HH 9 A 918 H F FH F HH
least one of these three brands. How many TF JAT ¥ oar 2| fhan oRaR W ® o
families do not use all three brands? G AT e T § e o 87
1) 125 @) 117 (Do (@11
3) 8 @) 0 38 4)0
18. In a certain code language, if FRAME =43 and  18. 3fg f&¥ u& &g w1 4, afd FRAME = 43
HURDLE = 68, then FIGMENT = ? 3R HURDLE = 68 &1, d FIGMENT = ?
1) 74 (2) 87 1) 74 (2) 87
(3) 89 (@) 91 (3) 89 @ 91
[OB] ¥ Page 7 of 24



19.

20.

21.

If (x+y) A (x-y) = Xy, then xAy = ?
1 1
1 = 2 o
(1) 4(x+y) (2) 4(y X)
15pc () gele i <5
3) 7 (x=7) e S

If the mean of n numbers of a series is X and the
sum of first (n-1) numbers is A, then the last
number of the series is-

(1) nx (2) nx-A

3) nx+A (4) X + nA

The following pie-chart represents the total
number of valid votes obtained by four students
in a student election. The total number of valid
votes polled was 720. By how many votes did

the winner defeat the nearest contestant?

Student 3

Student 4

19

20.

21.

M (x+y) A (x-y) =xy &I, A xAy =?
Rl 1

(1) 7 x+y) (2) . (y—x)

ST 1 :

3) Z(X_Y) (4) Z(xz—y)

Il n Gl BT AT X %‘.aﬁ? T (n-1)

ST BT AT A ®, A 9ol @ sifx e

T
(l)ni. (2) nx-A
(3) nx+A (4) X +nA
=1 urg—=ré =R Bl g7 B gAe # urd

a7l Y YRRl dRar 71 IR S T g
QU1 HAT BT =T 720 A | AT Grel 7 9T
Mweaq gl &1 fea adf ¥ s

(1) 40 2) 60 (1) 40 (2) 60
(3) 80 @) 120 (3) 80 (@) 120
[OB] XX
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22. For what value of a, the polynomials

23.

24.

25,

4x3 —ax? +2x—1 and 3x3 + 7x? - 8x +a,
leave the same remainder when divided by
(x-1)?

@ 1 (2) 32
(3) 52 @) 712
If 2¥ = 3% = 12%, then xy =?
(1) z(x + 2y) ) z(x+y)
) z(2x +y) @ z?

The sum of length, breadth and height of a
cuboid is X cm and length of its diagonal is y

cm, then its complete surface area will be-

()yxe ey (2) x* +y?
3)1 4) (x—y)?
2
The base of a cone, a hemisphere and a cylinder

are same and their volumes are in the ratio 3:2:1
then height of cone : radius of hemisphere :

height of cylinder is-

22. a% fou A @ ford, agTS

23.

24.

25.

4x3 —ax? 4+ 2x—1 3R 3x3+7x2 —8x +a,
(x-1) ERT 91T {7 Sm 8, O 69 9l
&l B—

(11 (2) 372

(3) 5/2 4) 7/2

gfg 28 = 3 =122 31, ot xy =?

1) z(x + 2y) (2) z(x+y)

(3) z(2x+y) 4) z2

TP O BT TN, drels AR Hag BT INT
X A 2 3R 39 b0l @ o y QA
g, 1 S9ST [ YO &A% BRI—

(1) x* —y? (2) x* +y?
) 1 —v)?
A3) E Gttty ) x—y)

T ¥q, Uh el AR Th JaT BT MR
T § 3R S ATl H AU 3:211
& wm B S aE @ B S
B HaE IR o

(1) 6:3:1 (2) 9:3:1 (1) 6:3:1 (2) 9:3:1
(3) 9:6:1 (4) 1:6:3 3) 9:6:1 4) 1:6:3
[OB] XX Page 9 of 24



26. 379 ¥ e fAdey & Wi we 87
1)  Re + Jvsa = Ravsa
@ w+ 1T = @

Q) =+ fm = R

@ g + g1 = Ry
27. ffafaa # 9 59 9= d R’ g9 81 87
1 ReR
(2) HHclEdR
3) QIR
@) WWHR
28. gpfa @1 fidm o= &
1) vl
@ P
@) e
@ g
29. g F TR T g 87
1  §gE
2 g
@) g
@ e
30. s @ f5e fawea & ‘Adjourn’ av‘r-ﬂﬂﬁ'lﬁﬁﬁ &t g 87
1)  IgacH
2)  wer g
@) | &
) TR

[OB] ¢ : Page 10 of 24



31. Choose the correct option :

........... time has been wasted.

(1) Few

(2) Many
3) Much
(4) A few

32. Choose the correct tense :

Lo her making great efforts to complete the assigned task.
(1) saw

(2) be seen

(3) been saw

4) seen

33. Choose the correct antonym of the given word ‘Rarely’-
(1)  Hardly '
(2) Definitely
3) Frequently
(4) Periodically
34. Change the narration :
“Must you go so soon?”, I said.
(1) I asked him go soon.
(2) I told him he should go soon.
(3) I told him he must not go soon.

4) I asked him if he had to go so soon.

35. Choose the correct option :

The tailor was ordered to ......... the shirt.
(1) Altar

(2) Alter

3) Amend

(4) Anew

[OB] $ Page 11 of 24



36. As per the census 2011 what is the literacy rate

37.

of Rajasthan?
(1) 66.11% * (2) 70.50%
(3) 79.19% (4) 79.50%

The 11" World Hindi Conference was held

from 18™ August to 20" August, 2018. In which

~ country it was held?

38.

(1) India (2) Mauritius

(3) Nepal (4) Bangladesh

In Rajasthan which of the following are
included in the Chief Minister’s Seven Point

Programme for Women Empowerment?

(A) Reduction in mortality rate of infants
(B)  Stabilization in Population

(C)  Prevention of child marriage

(D)  Stay of girl students in school at

least upto class 10
(1) Only A and B (2) Only A and C

(3) Only C and D (4) A,B,Cand D

36. SIUMT 2011 @ ATAR SR DI IR

37.

e T 87 '
(1) 66.11% (2) 70.50%
(3) 79.19% (4) 79.50%

11ﬁﬁw%€rwﬁm1smﬁzow

2018 TF SN gIMI TE A W A

38.

JrfoT g3 AuT?
(1) wRa (2) HiRer|
(3) =uret @) FIrARY

o H Aien wwfdaeer 8 gEAl @

o g eriwe H FeEfaRen § @ @

Aot 87

(A) Rg-Fgx § T4

(B) ST RenidRT

(C) dret faare @t JApu™

(D) BERT &1 e H B9 W BH BElT 10

TP SN

(1) T AR B  (2) dd9d A 3R C
@) @I C AR D (4 A B,C3IRD

[OB] XX
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39.

40.

41.

42.

Apurvi Chandela and one other Indian Shooter
have become the first set of Indian Shooters to
secure quota places for the 2020 Olympics by
finishing fourth and second respectively in the
women’s 10 meter rifle event of the ISSF
World championship on 3rd September 2018 at
Changwon South Korea. Who is the other
shooter?

(1) Anjum Moudgil  (2) Heena Sidhu

(3) Anisa Sayyed (4) Shreyasi Singh

The Prime Minister of India has recently
announced that India will send a manned
mission in space by 2022. What is the name of
this mission?

(1) Badi udaan (2) Gaganyaan
(3) Virat udaan (4) Antriksh vijay

In the year 2018, which month has been
declared as “Month of Nutﬁlion" in Rajasthan?
(1) September (2) October

(3) November (4) December

As per 2018, Cleanliness Survey for Indian

Railways, one of the railway stations of
Rajasthan has been declared as the cleanest
railway station in ‘A’ category. Which is this
railway station?
(1) Marwar (2) Phulera

(3) Bhilwara (4) Barmer

39.

40.

41.

42.

3 Ry 2018 @ @FrEE, <fROT HIRET A
JATT B3 % U9 UW UH AMRGARM H
ARSI B 10 Hex ISHe Wl § HAT: Al
IR R WM W BT R 3gd gl AR T
37T MR femETst  HRAR fREers o
ygell g 9 & R 2020 Sfefued Well
BT T 3T © | T8 3 (Fram=aret oI
g?

(1) orH e (2) € Ry

(3) 3 HIg @) T g

WRA @ G A g € H o B g
TRA 2022 O IIRe A WHE g AEE
WS | 39 AT BT FIT AH 27

(2) T

(4) Ir=<aier fasr

(1) 91 S
(3) farre Se™

% 2018 § IoRUE # g 9EM S Ul BT
7ET Gifte far T 87

) Rio=x (2) 3T

(3) AR (4) e

URAT Yo $ U 2018 TEHAT GV B
SR RISRT & Yeid WA 4 | T 31 T
Soft ¥ |E W Nod WIE Hiiva fhar @
2| U8 39 RIF DA AT 87

(2) ORI
(4) TR

(1) 9IRars
REIGEIS]

[OB] ¥
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43. India’s first ever test flight powered by biojet

45.

fuel was successfully conducted by Spicejet on

27" August 2018 between which two places?
(1) Dehradun and (2) Dehradun and
Lucknow Delhi
(3) Shimla and Delhi (4) Chandigarh and

Delhi

Which author was awarded Vyas Samman for

2017 for her novel “Dukkham - Sukkham”.

(1) Mannu Bhandari  (2) Dr. Sunita Jain

(3) Mamta Kalia (4) Mridula Garg

World’s first thermal battery plant was
inaugurated in India on 6™ August 2018. Where

was it inaugurated?

(1) Amaravati, Andhra (2) Pune, Maharashtra

43.

44.

45.

27 TR 2018 I WISH Sic §RT WRA &l
Ha Ugell dRNie WE §RT arfod o
oM b7 a1 Il 3 "y W T8 o

(1) BRI e (2) BRIy o feeh

[SECE

(3) Rerm @ fecell  (4) Tveire oo feceh

fost <ifgeT &1 SHa U= “GRIT—gIEH”
@ fo1g 2017 &1 @ wwE e Ty or?
(1) 7] HerI (2) Sf. grirar o+
(3) 7T FIfeRm (4) Fgen T
fisd & Ugel opid Sl wic &1 9Ra H 6
SR 2018 I SgHIeA fHar AT o7 | SHST

IguTed Hul fhar Tar ar?

(1) SHRTE, MUY (2) YOI, HERTS

Pradesh !
(3) X, FRES (4) P, s
(3) Ranchi, Jharkhand (4) Cuttack , Odisha
46. The number of moles in 52 g of He is - 46. 52 g He # Hiali @1 | 28—
@1 2 13 (1) 1 (2) 13
(3) 26 4) 52 (3) 26 4) 52
[OB] & Page 14 of 24



47. When a body of certain mass falls freely from a

48.

49.

50.

51.

height it’s-

(1) Potential energy  (2) Potential energy
decreases and increases and
Kinetic energy Kinetic energy

increases. decreases.

(3) Potential energy  (4) Potential energy

and Kinetic energy and Kinetic energy

both increase. both decrease.

Which of the following bodies has the largest
Kinetic Energy?
(1) Mass m and Speed v (2) Mass 3m and
. Speed 2v
(3) Mass 2m and (4) Mass m and Speed

Speed 3v 4v

The average value for the amount of organic
matter that is present at each step and reaches
the next level of consumers in a food chain is -
(1) 40% (2) 30%
(3) 20% (4) 10%

Number of chromosomes in human cell is-
1) 20 (2) 36
(3) 46 (4) 96

The Westminster Model adopted in the Indian

Constitution is related to -

(1) Presidential (2) Secular State
System

(3) Parliamentary (4) Republicanism

System

47.

48.

49,

50.

Sk

e Us [¥Ed e &1 v Ue S |
I w9 ¥ fiRar 8, d-

(1) zwaT Refast St (2) swat Refsr o
el ® 3R et geclt @ ofiR fow
Hoil dedl & | Heoll Tedl 2 |

3) gua! Rerfast sl (4) saa Refos at
AR TSt St 3R et St
QT g 2 | aFT ged §1

I & ¢ axqgell # 9 fhEer afow st
gaifire 87
(1) STEFE m 9T (2) SIHE 3m a7

ECIRY Tl 2V

(3) <9F1F 2m dAT  (4) S<FHTT m qAT

Uled 3y el 4v

e AER gEd § WRF 'R W S
FEME TarRl @I fEd q= S fb SuHiET

S T TR T TEE 2

(1) 40% (2) 30%

(3) 20% @) 10%

e PR ¥ TORE @ T B &
(1) 20 (2) 36

(3) 46 (4) 96

IR Qe # sifipa davefiver died @1

ey & —

(1) ETETTHS YUTell  (2) EHFRYE I |
J

(3) TS goIell | (4) TUIGEae |
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52.

53,

54.

35:

56.

57

The three grounds on which emergency can be
proclaimed under article 352 of the constitution
do not inclu&e -
(1) Internal (2) War.
Disturbance

(3) External (4) Armed Rebellion

Aggression
Union Council of Ministers is collectively
responsible to -
(1) President
(3) Speaker

(2) Parliament

(4) Lok Sabha

How many members are elected in Parliament

from Rajasthan?
(1) 25
(3) 35

(2) 29
(4) 40
The collegium system in the appointment of
Judges has started in the year -
(1) 1984
(3) 1995

(2) 1993
(4) 1999

Which of the following districts of Rajasthan
has shortest international boundary?

(1) Jaisalmer (2) Bikaner

(3) Barmer (4) Ganganagar

As per the Koppen'’s classification which of the
following districts is not having “Aw’ type of
climate?

(1) Banswara (2) Jhalawar

(3) Dungarpur (4) Bundi

52.

53.

54.

d O R, oM 1R Gfaus & srees 352
@ 3 MU SKENUT B O WHl g, H
oie 8 8 —

(1) 3aRa sEmfd (2) I§

(3) 9T&T 3MHHIT 4) Tere fagrs

Y ¢l HEuRyg arfed wU | StReE 2
() Tgufd & ofd () 998 @ Ul

(3) ATHTHT 3T B (4) APaHT B Ufey
gfa

G | ORI ¥ e dew g o 87
(1) 25

(2) 29

3) 35 (4) 40

55. =gramien @ Yk @ Blersizm gomelt &1

56.

37

IR fod 98 | garr?

(1) 1984 (2) 1993

(3) 1995 (4) 1999

fF=foRed # & s & fFa e &
FARTET T Fa¥ BIET 872

(1) SR (2) fIEHTR

(3) e (4) TR

HIUT b THHRY b JFAR 1= § F fba
el § ‘Aw’ UBR @ STefary w181 Uil Sl
g7

(1) grearst

(3) IRPE

(2) SATefrdrs

@) 4

[OB] &
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58. Which district in Rajasthan have population

density less than 100 persons per square

kilometer? (As per census 2011)

(1) Jaisalmer, Barmer (2) Jaisalmer, Barmer

and Jalore and Jodhpur

(3) Jaisalmer, Barmer (4) Jaisalmer, Barmer

and Pali and Bikaner

59. Which of the following crop of Rajasthan is not

benefitted from ‘Mawat’?

58.

39,

IoReE ¥ B F el § S99 999 100
Ffad ufd of farier & &9 9 wer 87
(STITOTT 2011 & THR)

(1) STHERR, IR T (2) SRR, IR Ud

AR SRR
(3) STHTR, IIERR UG (4) STk, SISk Ud
qTelt BT

ISR & 9 7 9 o9 ) 59 |98’ 9
AT &l By 87

(1) Wheat (2) Gram (1) g (2) T
(3) Mustard (4) Cotton )t P
60. Match the following and select the answer from  60. Fr=1 &1 gafera #ifow wd 91 Ry 7 aei 4
codes given below — ¥ S g -
Tourist centre Place e B I
(A) Soni ji ki Nasiya (i) Bharatpur (A) S S AR () R
(B) Lohagarh fort (ii) Bikaner (B) AETTE fae (i) FPER
(C) Chandra-Mahal (iii) Ajmer (C) T — H&d (iii) 3TSTAR
(D) Junagarh fort (iv) Jaipur (D) SfTTE e (iv) SRR
Codes : b s
D QD Brd), @) AV, BIG, (M) A0, B, @) (Ar), B,
(©-(iv), D)(i) ()i, (D)-(i) S oL
3) (A)-GB-GY), (@) (A)-Gii)(B)-G), (3) (A)-(iiD).(B)-(v).  (4) (A)-(iii),(B)-(i),
(©-(). D)) (©)-(iv), (D)-Gi) (©)-(i), (D)-(ii) (C)-(iv), (D)-(ii)
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61.

62.

63.

Which of the following set of principles is most
appropriate for school management?

(1) Cooperation, (2) Equality, over-

equality, flexibility  structuring,
and sharing flexibility and
responsibility fixed responsibility

(3) Cooperation, (4) Flexibility, over-

rigidity, equality structuring, sharing
and fixed responsibility and

responsibility equality

Which of the following function is related to
educational management?
(1) Organisation of  (2) Planning activities

school

(3) Controlling the (4) All options are

system correct

According to the aims of Sarva — Shiksha

Abhiyan (SSA), by which year elementary

61.

62.

© (1) fdETe™ ETeH

63.

freners yave @ fore Prefofes § 9 gl
BT D AT 9T (WE) TaY AF Iugad &7

(1) \EGIT, A, (2) e,
AT R ST SIa—HET,
IREIIE REISICERCIN

fraa SaRaR

(3) W&, gedr, - (4) ofde,

FHET SR f—<==T, aren
SRR IREII 3R

HHTCT
ffoRaa # 9 o9 a1 o Aee gdus |
et 87
(2) ity &

T

(3) vomrelt (A=) s (4) it fAwey w8 &

wd Rrem AfgE & @l & SIER 6 A 14

education should have been made available for frg ad T U™ B ST AIRT?

all children upto 6 to 14 age group?

(1) 2005 (2) 2010 (1) 2005 (2) 2010

(3) 2000 (4) 2020 (3) 2000 (4) 2020
[OB] X Page 18 of 24



64. A most effective approach for long term

decision planning of an Educational Institution
should be based on the following—

(i)  Anexplicit and shared vision

(ii)  Emphasis on economic aspect

(iii)

The use of appropriate process

(iv) - Stress on result
(v) The use of mature team
(vi)  Clear commitment to the outcomes

_ Out of the following which option has correct

logical order?

(1) (i), (ii), (iti) and  (2) (i), (iii), (v) and
(iv) (vi)

() (i), (iii), (iv) and  (4) (iii), (iv), (v) and
(vi) (vi)

65. The correct cycle of Educational Management

Information System (EMIS) for annual process
18 -
(1) Data Collection — (2) Data Reporting —

Data Analysis — Data Processing —
Data Reporting — Data Collection —

Data Processing Data Analysis

(3) Data Processing — (4) Data Collection —

64.

65.

dfdrs wxenst o ded@rfers Mo dreEn &1
qaifs g SUrH - (@TE) FeEfaRad w
JMETRT BT =18y —

(i) W< IR AE gt

(i)  onfdfe Ue W g <

(i) =~ SUgF UfhaT FH SHEA

(iv) uRvmH W A <1

(v) uRuga &\ &1 ITART

(vi) TRl & ufd W wfddgadr

o T et § @ fw e § w8 aifd®
o 87 |

(1) (i), (i), (i) 3R (@) (@), (iii), (v) 3R

(iv) (vi)
@A) (i), (iii), (iv) IR @) (i), (iv), (v) IR
(vi) (vi)

afie ufthar & forg Siféie aeT yomred! gee
BT e TP & —

(1) it 1 (2) il FT o
THATHIT —> — 3wl B
sifdel &1 A2 gfsar — aifee
— 3fest 31 BT THATHIT —>

oG — el Jfarel &1 fagermor
P yfepar

. (3) sifmet ® Ut (4) sifwsi BT

Data Analysis — Data Processing— — aftpel @ 5 6
fargergor Fper SISt @ ufshar

Data Reporting — Data Analysis — — st :
BT T — — 3iHST BT

Data Collection Data Reporting s Rrearyor — aifel
THHAIDRT BT oI
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66. Which of the following function is not included

67.

in the techniques and procedures used for
School Mapping?

(1) To plan the (2) To support

demand for decision making
schools at the local on the planning

level. policy formulation.

(3) To analyse an (4) To resource

educational allocation and
system. prioritization of
future school

development.
Which of the following is not included in the
programmers under CTE (College of Teacher

Education)?

(1) Pre — service (2) In-service teacher

training

education

programme

(3) Actionresearch  (4) Service conditions
for teacher

education

66.

67.

e i & forg suan & o arr
SRt sie fmamel ¥ Frefemad § & @9
1 S qieaferd TE &7

(1) faenea &1 R (2) Y FaEfr awsmEn

R A B w5y T Fok
IISTAT FT | B HERT o7 |
(3) v e gomell  (4) HwmE PR ok
o1 favewo AT | femer e A

Hfqsy o1
grIfAesan 9
BT |

4. & 3 (euus Renm weflemem) @
HUHA H fFreforiRaa & 9§ &9 w1 afafaa
8 8?

(1) & — Jara Ren (2) VAR Feaus

PHIAHH yfSreror

(3) forarie AT (4) e R &

forg e wrc
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68. E-Governance is the application of ICT for

69.

70.

7L,

(1) Dehradun

delivering services in convenient, efficient and
transparent manner. Which of the following
target group is included in it?

(1) Government (2) Citizens

(3) Business / Interest (4) All of the above
groups
‘EduSAT’ was launched in which year and

month very first?
(1) August 2010 (2) July 2010

(3) August 2011 (4) July 2011

The Bharat Scouts and Guides’ National
Headquarters is situated at-
(2) Delhi

(3) Mumbai (4) Chennai

Kasturba Gandhi Balika Vidyalaya (KGBV)
was launched in -
(1) 2001 (2) 2002

(3) 2003 (4) 2004

68. § — T vl @ oy GRETSRS, T

69.

70.

71.

IR uRed B § AEMA (@ v
RO ) BT e & | PrefoRed ¥
¥ B 9 e (eriie) wg aftafera 87

(1) PR (2) “TR®
(3) AR /R (4) SWRIaT T
e

Tege’ WdveE S | AE Ud af § gl

e m?
(1) 3R 2010 (2) TS 2010
(3) 3T 2011 (4) SIS 2011

Rerg & —
(1) <EwrgT H (2) feoelt ® -
(3) g @) o= A

Hear T drferer fdamerm  (KGBV) @1

TR B3 —
(1) 2001 (2) 2002
(3) 2003 (4) 2004
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72. According to The Ri ght of Children to Free and

73‘

Compulsory Education Act - 2009, a child
admitted to elcmenfary education shall be
entitled for free education till completion of

elementary education -

(1) Only upto fourteen (2) Upto fourteen

years in years in all types
government of schools
schools

(3) Upto fourteen (4) Even after fourteen

years in private years of age
schools

According to duties of appropriate Government

mentioned in The Right of Children to Free and

Compulsory Education Act - 2009, the Central -

Government shall -

(2)\ Ensure availability

72. figed R Rl a@ Rem &1 afeR

AT — 2009 & STAR, URME Rem &
fory waer wra H1E aeE URPNE Rem g

B qP Fged RET &1 ghaR B —

73’

(1) &R f[derear 4 (2) 9 yeR &
DIl digg 99 9 fdererdl ¥ deE

ELAGED
(3) IR TR (4) eE 9 B AR
fqemeral # diew @ g W
ay Ib
Fged AR e s Rem &1 AfPeR

e s — 2000 H Ivfd wHRIG AR B
Fidl B FTIR DER THR FT I
2T —

(1) Provide training (1) STETTP} BT (2) ST CCIE"'\“T) &
facility for of a R R 2
teachers. neighbourhood

BT | IUARIAT Bl
school.
; gRfaa &)

(3) Develop and (4) Provide : :

(3) Rrerel & ufkerT  (4) smme@ e
enforce standards infrastructure. -
; % o At 3 WE&TT R |

for training of

famfa sl
teachers. ol

BHRAT |
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74. Which of the following duties shall not be 74, Aiged iR A a1 Rem &1 IWHR
AT — 2009 & IFTEAR FAUDI R
| FrfaRad # @ B A1 SRS T g

performed by teachers according to The Right

of Children to Free and Compulsory Education

form S 27
Act —2009?
(1) Decide the (2) Hold regular @2 HERCASESK (2) AT foeT 3ﬁ_"
: ‘ (q=mT) SIRRICE R
academic calendar. = meetings with
faffe & | frafia do@
parents and
G |
guardians.
@) fiffde v & (4) U&d arcid Bl
(3) Complete entire  (4) Assess the learning frae -‘W\Ui rforTH (R’ﬁ@ff) )
curriculum within ability of each qraashd g1 &HAT BT JHTheA
the specified time.  child. Tt Tl

75. In which of the following state, Rasthriya 75. FmifoiReq # & @19 4 w58 § wsfia Mferd

Military School is not situated? e Rerd 781 87
(1) -Punjab (2) Himachal Pradesh (1) U™ (2) fRama goy
(3) Rajasthan  (4) Kamataka @) eE @) Few
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